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Specimen paper for examinations in June 2010 onwards

This question paper uses the new numbering system and new AQA answer book

For this paper you must have:
e an AQA 8-page answer book.

Time allowed
e 1 hour 30 minutes

Instructions

e Use black ink or black ball-point pen.

e Write the information required on the front of your answer book. The Examining Body for this
paper is AQA. The Paper Reference is HCO1.

e Answer all questions.

e Do all rough work in the answer book. Cross through any work that you do not want to be marked.

Information
e The marks for questions are shown in brackets.
e The maximum mark for this paper is 60.
e You will be marked on your ability to:
— use good English
— organise information clearly
— use specialist vocabulary where appropriate.

HCO01


http://store.aqa.org.uk/qual/pdf/AQA-EX-ANSWER-BOOKLET.PDF
http://store.aqa.org.uk/qual/pdf/AQA-EX-OF-LONG-ANSWERS-W-GDE.PDF

Answer all questions.

There are 15 marks for each question.
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Name the service described in each of the following.

A telephone health advice line staffed by NHS nurses (1 mark)
A nursing service for clients in their own homes (1 mark)
Daily living assistance for clients in their own homes (1 mark)
Schooling for children before they begin primary education (1 mark)

Child care provided at a workplace for the children of employees (1 mark)

Newly-appointed staff at a residential home are given a short training course.

The trainees learn that if they treat residents badly, they may be dismissed. Outline two
other reasons why staff should treat residents well. (4 marks)

The trainees also learn about techniques for reducing the risk of violence from clients.
Suggest two of these techniques and in each case, give an example of the technique
being applied. (4 marks)

The trainees also learn about precautions to be used when lifting clients. Suggest two
precautions that are intended to reduce the risk of injury to staff when lifting. (2 marks)

Question 2

Cyril is 74 years old and rather deaf. He is in a hospital ward recovering from an iliness.
One evening he is sitting in a chair beside his bed. A nurse speaks to him with her

face level with his. Speaking loudly and clearly, she says, “It's nearly time to go to bed.

| think you should go to the toilet first.” Cyril tells the nurse that he does not want to

go. The nurse replies, “Come on, you'll probably want to go when you get there.” Cyril

agrees and asks the nurse to help him stand up. She replies, “It’s better if you stand up
on your own.” Cyril is worried that he will fall over.

Evaluate the service Cyril received from the nurse. In your answer name three relevant
psychological life quality factors. Link each factor with a statement from the description
above. (9 marks)

One week later Cyril returns home, where he lives alone. Following his illness, he is
unable to care for himself adequately.

Suggest two physical life quality factors Cyril is likely to lack and for each one describe
how a practitioner or service could provide this factor. (6 marks)



Question 3
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Pilar works in a day nursery. One morning, she notices Gordon (aged 3) playing with a
doll. She takes the doll away, and tells Gordon that dolls are for girls to play with, not
boys. Later she sees Gordon playing with the doll again. She tells him that she does
not like boys who do not do as they are told. She ignores him for the rest of the play
session, even when he tries to talk to her.

Identify three ways in which Pilar treated Gordon badly. Refer to the description above.
(6 marks)

Outline one barrier to treating people well that might explain Pilar's behaviour. (3 marks)

Outline how a care worker in a day nursery might use the following skills or techniques.
In each case give an example of the skill being applied.

Modelling (2 marks)
Working alongside (2 marks)
Physical contact (2 marks)

Outline the main differences between education in a special school and education in a
mainstream school. (5 marks)

Rohan has a disability that causes his speech to be slurred, and requires him to use a
wheelchair. He is more intelligent than most children his age. Evaluate the suitability
of a special school for Rohan. In your answer, refer to an alternative arrangement that
might be made for his education. (4 marks)

Describe how education for children with special educational needs is usually accessed.
(3 marks)

Suggest one barrier which can lead to children with special educational needs not
receiving the education they need. (1 mark)

Suggest one way in which the barrier you suggested in question can be
overcome. (2 marks)

END OF QUESTIONS
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